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Rank. K% g 2E |[E%EE |EE [(Z&
1[100m HE = mETH/R 10.25[UPN |EEZ=
1[100m O #X BREHAX K3 10.25[JPN |38
3[100m tTH HE FiaEEEILX K4 10.49|JPN |38
4][100m WA %8 TN K1 10.53[UPN |$7:8
5[100m 3 FiaEEEILX KEMI1 10.56[UPN |38
6/100m X% RFE AccelTC 10.57[UPN |FZE
7]100m MH X RiEKX K2 10.62|JPN |78
7]100m Bl EE TN K2 10.62|JPN |78
9[100m EH it TN K2 10.63|JPN |78
10{100m BE BX BiEHEX K2 10.64|JPN |78
11[100m =i EE BEEHX K2 10.66|JPN |78
12[100m BHa E aEEELX K2 10.67|JPN |8
13[100m MBI BB |FTBEEEUER REMI 10.69|JPN |$7i8
14[100m & AKX + H BT EER 10.70|JPN |38
14[100m ®BE B8 ALSOKZf:& 10.70|JPN |8
16[100m =i BEskE BAX K1 10.71[JPN |78
17[100m miF KEB TRFREX K1 10.72[UPN |38
18]/100m ik KT RO ARAC 10.73|JPN |38
19[100m il B IR =1%2 10.74[JPN [37iE3
20[100m A =S FiaEEEILX K4 10.77|JPN |78
21[100m ®BiE B FaEEEIX K4 10.78|JPN |38
22[100m e Va—y |[EEREX K2 10.82|JPN |78
23[100m Bk XKE SEBK K4 10.83|JPN [ZF&E
24[100m wmE FE HEJIX RE1 10.84|UPN |Z3E
25[100m 285 AC gk K2 10.85|JPN |8
26[100m g X TEAM KOS 10.86|JPN |8
27[100m INR BK FaEERELX K2 10.87[JPN |38
28[100m KR HX select 10.88|JPN |8
29[100m ST ALSOKZf & 10.89|JPN |8
30[100m B B HAX 22 10.90|JPN |38
30[100m A X FaEEREILX 23 10.90|JPN |38
32[100m =E —#t ESnE X ES 10.91[JPN |78
33[100m NS TRE FaEEREILX 24 10.93|JPN |78
34[100m I BE TN 23 10.95|JPN |78
35[100m Af Bt TEAM KOS 11.00|JPN |38
36/100m S5 BX EMTESE =54 11.01|JPN |8
37[100m ®iF BE HAXES =1%2 11.06[JPN |38
38[100m A AR |FEiX K2 11.07[JPN |38
38[100m A = HAXES =12 11.07[JPN [37i83
38[100m EAR HEE FiaEEREIX 2Y) 11.07|JPN [E 1L
41[100m =5 & 5 B 175 31 K %2 11.11[JPN_[#7:8
42[100m BIER EE B kER 11.12|JPN |28
43[100m STk BB gk K1 11.13|JPN |78
44[100m NEFF EF | 11.15[JPN | 378
45[100m E=IIET T PN K1 11.16|UPN |Z3E
46[100m BE EE mae =1%2 11.17[JPN 3783
46[100m HER select 11.17[JPN |38
46[100m Al HE gk K4 11.17[JPN |Z3E
49[100m HE L& FiaEEEIX K2 11.20[JPN [3FiE3
50[100m i =4h select 11.26|JPN 378
51[100m SE N HAX K3 11.28|JPN |38
51[100m i 2t Rize AC 11.28|JPN |38
53[100m FE EiD gk K1 11.30[JPN [Z3E
54[100m AH Bt |BAXES =1 11.31|JPN_|#7/%
54[100m EXR FiK REEERES =12 11.31|JPN |8
54[100m A BIX REXFS =12 11.31|JPN |8
57[100m INE BRIE HAXES =12 11.34[JPN |38
57[100m =K BEK FiaEEEILX K4 11.34[JPN [37i83
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(72 H] EEFREREFSEEEFIEAS 6230 18EEATI VN —RMNERBEHDIEHRTY)

59[100m Hft B&R gk K 11.35|JPN [Z25&
60[100m IEEGES gk K 11.36[UPN |38
60[100m k% BE HES =12 11.36|JPN |78
60[100m NI FiaEEEIX K4 11.36[JPN |38
60[100m AGRH KE |FHiX KEMI1 11.36[UPN |38
64[100m thE B Hiae =12 11.37[JPN |38
64[100m A —F ESnE X K3 11.37|JPN |78
64[100m HE EBE& FiaEEEIX K2 11.37[JPN |38
64[100m £k TR FaERS =13 11.37[JPN |38
68[100m = =E HAXES =1 11.38[UPN |38
69[100m a5 A Hiae =2 11.39[JPN [3FiE3
70[100m WA B FiaEEEILX REE2 11.42|JPN |78
71[100m Enfiz 2K SAC 11.43|JPN |#12Z)1]
71[100m A+t BAKRER |FBES =13 11.43[JPN |38
73[100m M EC iaEe =2 11.46[JPN |38
74/100m +TE #HEA |ERARES =12 11.49|JPN |78
75/100m EA K5 gk K3 11.51|JPN [Z5&E
76/100m Hef £= HES ISLA 11.54[UPN 378
77/100m EH E— FEAC 11.55|JPN |78
78[100m EE R RERES =12 11.56[JPN |38
79[100m EE K mae =1 11.57|JPN |$7i8
79[100m A7 & RIEXR K4 11.57|JPN |78
81[100m R+t g HaRS =12 11.58[JPN |38
82[100m Lt =3 bl =13 11.60[JPN |38
83[100m ne &X iaEe =1 11.64|JPN |$7:i8
84[100m [EATEES s =43 11.65|JPN |78
85[100m TR ERK REXFS =12 11.71|JPN |8
86[100m EIEEEPN s ISLA 11.73[UPN |38
87[100m B Y s =43 11.74|JPN |78
88[100m =% HIk FHs =1 11.75|JPN |$7:i8
89[100m Eik BE NS =12 11.77|JPN |38
89[100m HitE REF FHs =1 11.77|JPN |$7:8
91[100m TH —B et Rs =12 11.78[JPN |38
92[100m [ETITIEC RN EIEDS =12 11.90|JPN |38
93[100m INF BEK FiahRs =13 11.91|JPN |8
93[100m XHF BE NS =12 11.91|JPN |8
95[100m MNEll 2B NS =2 11.96|JPN |78
96/100m INE BELER | EBES =12 11.99[UPN |38
97[100m [T mae =12 12.02[JPN [3FiE3
97[100m BERE EXE |FBERS =13 12.02[JPN [3FiE3
99[100m =BAH &8 |FEs =12 12.03[UPN [3FiE3
99[100m RIE R P =13 12.03[UPN [3FiE3
101[100m =H BEZE Rize AC =1 12.04|JPN |38
102[100m FlE Hias =12 12.06[JPN |38
103][100m XE E s =13 12.07|JPN |38
104[100m IMT RE iaEe =1 12.16[JPN 378
105[100m HEiZ HREE RERES =1 12.17[JPN 378
106[100m =L EE HEtrbES =12 12.24|JPN |38
107[100m =i X bl =12 12.26|JPN 378
108]100m #0O K INFRE =12 12.29|JPN |8
109[100m SH IR P =12 12.32[UPN |38
110[100m X A3 FriamhbER K2 12.34|UPN |38
110[100m £ P =1 12.34|JPN |$78
112][100m FulES FaES =13 12.39[UPN |38
113[100m =%% A P =1 12.53|JPN |$78
114[100m = S Rt BER 13.71|JPN [#ri8
115[100m RYEB #ik |THERES SR 13.93[UPN %78
116]/100m 211 B [FESEPN K1 99.99|JPN |[#ri8
116[100m MER R ae =1%2 99.99[UPN [#r:8
116]/100m EEH EX =N K3 99.99|JPN |[#ri8
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Rank. K% FEE e Bk EEE (S8
1[200m wE & =8 20.91[JPN [#7:i8
2[200m EH it TN K2 21.28|JPN |$7:8
3[200m AR KH# FrimmBER 21.33|JPN [$7i8
4[200m MHE X RiEKX K2 21.52|JPN |$7i8
5[200m A% HE AccelTC 2161[UPN [FE
6[200m +A =S FiaEEEILX K4 21.65[JPN [&ri8
7]200m 211 B [FESEPN K1 21.80|JPN |$7i8
7]200m B3 (E5h HAX K2 21.80|JPN |$7i8
9[200m BN B [ TiPN K2 21.81[JPN (&8
10[200m BZ e FREEREAX KF2 21.86|JPN [H]JII
11][200m =E —# ESnE X K1 21.89|JPN |$7i8
12[200m RS FiaEEEIX K4 22.24|JPN |[#ri8
13[200m ®BE B8 ALSOKZf & 22.26|JPN |[#i8
14][200m FIE £ A ESnE X K4 22.36|JPN |#i8
15[200m BmE FE #HEJIX K1 22 41|JPN [Z5E
16[200m B EZXE |[BAMEX K5 22.45|JPN |[#ri8
17[200m IR HAXES =1 22.55[JPN [#r:8
18]200m ITEPNE| ALSOKZf & 22.59[JPN |[#ri8
19[200m iy finth gk K6 2261|JPN (278
20[200m ik KT RO ARAC 22.62|JPN |$7;8
21[200m At+E BX |[HAXES =1 22.69|UPN [#r:8
22(200m iR HX select 22.71|JPN [#7:8
23[200m Bk B TREHZEX REE2 22.72|JPN |[&ri8
24]200m HIER ,ﬁa_ B kER 22.80[JPN [f28
25/200m N &3 FaEEEIX K1 22.83|JPN [#r:8
26[200m INFR %7& RO ARAC 22.96|JPN |$7;8
27[200m INEE 1Bt BAXES =12 22.97|JPN |[#ri8
28[200m BE EE mae =2 22.98|JPN |#ri8
29[200m i 2t Rize AC 23.15[JPN [#ri8
30[200m Al HE gk K4 23.19|JPN [Z5E
30[200m ®iF BE HAXES =1%2 23.19|JPN |[#r:i8
32[200m WA B FaEEREILX K2 23.32|JPN [#r:8
33[200m = =E HAXES =1 23.38|UPN [#r:8
34[200m TR FaEEREILX K4 23.57|JPN |[#ri8
35[200m a5 A Hiae =2 23.60[JPN |$7i8
36[200m i RiF FHs =1 23.90[JUPN |#r:i8
37[200m k% BE NS =12 24.03|UPN |#ri8
38[200m Hf FE= HES =1 24 14|JPN |$7:8
39[200m #}AR RIZ s ISLA 24.73|UPN |$ri8
40[200m Xl HEAC 24.80|JPN |#ri8
41[200m N T =12 24.96|JPN |[#ri8
42[200m =i X bl =12 25.46|JPN |$7i8
43[200m #0O K INFRE =12 25.90|UPN |#ri8
44[200m [ETITIEC RN EIEDS =12 26.25|JPN |$i8
45200m CTEEN EIES =12 26.35|JPN |#i8
46]200m &5 M s =’ 26.54|UPN |$7i8
47[200m EJI| THA gk K2 26.85|JPN [Z35&E
48[200m =%% A s =1 26.93|UPN |#ri8
49[200m KE FK RERES =1 30.75[JPN [#r:8
50[200m K& A3 FrigmBER K2 99.99|JPN |[&ri8
50[200m =3F X Iz B 7331 KX K2 99.99|JPN |[#ri8
50[200m WmE = mETH/R 99.99|JPN [Em
50[200m thE B mae =1%2 99.99[UPN |[#r:8
50[200m TR KA gk K3 99.99|JPN |[#ri8
50[200m 2B BBE FaERS =1%3 99.99[UPN [#r:8
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Rank. K% FiE e Bk EEE (S8
1[400m AR KH# FrimmBER 47.03|JPN [$7i8
2[400m R EE FiaEEEILX KEMI1 47.35|JPN |$i8
3[400m Bl K2 TN K3 47.36|JPN |#ri8
4]400m HE R [FESEPN K2 47.42|JPN |$i8
5[400m ENTRGES BEEHX K1 47.82|JPN |$i8
5[400m = B FiaEEEILX K4 47.82|JPN |$ri8
7]400m Pt Jbit FiaEEREIX K1 48.62|JPN |#i8
8[400m Hft EAE |[BIHEX K5 48.94|UPN |$i8
9[400m BIlE E)\ EEnE X K4 49.04|UPN |$7i8
10{400m FIREE S TN K3 49.11|JPN |48
11[400m f‘*?k % TREEKX K3 49.45|JPN |$i8
12[400m N i&sl FiaEEEIX K1 49.64|JPN |$i8
13[400m EEH’C 573 FaEEREILX K2 49.74|JPN |$7i8
14]400m INR FEK 2PN K3 49.90|UPN |#ri8
14[400m 5l EA HETIES =1%3 49.90|UPN |78
16]/400m 1k BEEX ESnE X K2 49.95|JPN |#i8
17[400m i finth gk 26 50.33|JPN [&r:8
18[400m INE BRHA HAXES =1%2 50.52[JPN [&r:8
19[400m Ea FBiE gk 23 50.73|JPN |[&ri8
20[400m A0 BZE FaEEEIX 24 50.75|JPN |[&ri8
21[400m oH BEK [FHEEX K3 50.86|JPN |[&ri8
22[400m i Ph AN ] =12 51.33[JPN |[#ri8
22[400m %A K HES ISLA 51.33[JPN [&ri8
24[400m T EES HES =2 51.35[JPN [&ri8
25[400m A E Rize AC 51.39[JPN [#ri8
26[400m EH E— FEAC 51.53[JPN [&ri8
27[400m AtE — |fREs =12 51.57[JPN |[&ri8
28[400m I FR s =13 51.74|JPN |[#ri8
29[400m =g BEM gk REF2 52.17|JPN |[#ri8
30[400m B Y s =123 52.20|JPN |[&ri8
31[400m AT HAXES =13 52.22|JPN |[&ri8
32[400m N EX RO ARAC 52.28|UPN [#rid
32[400m INEIE X [HAXES =1%2 52.28|JPN [#r:8
34[400m Bk gk K3 52.35[JPN [&r:8
35[400m FIEES FUBEREX 24 52.57|JPN [&r:8
36[400m B3 gz gk K1 52.70[JPN [#r:8
37/400m B FEEF |FBEERELX EZ) 52.86|JPN [#r:8
38[400m =k X HES =12 52.88|JPN [#r:8
39[400m EH gk EERES =12 53.05|JPN |[&ri8
40[400m EJI| THA gk K2 53.27|JPN |Z35&E
41[400m KBEHF BE |BBAeX K1 53.45|JPN |[&ri8
42]400m XFxE HBE NS =12 53.66|JPN [&ri8
43[400m BRI EE |hHEs =1 53.97[JPN [#r:8
44[400m = BT P =12 54.70[JPN [&r:8
45[400m S Hiae =2 5491|JPN &8
46[400m 54X K# FaERS =12 56.01|JPN [&r8
47[400m EHHF BA [BULKUP 56.26[JPN [#rie
48[400m A+t BH s ISLA 56.46|JPN |[&ri8
49[400m B S mae =2 56.48|JPN [&r:8
50[400m BER EN =HES =12 56.74|JPN &8
51[400m PN gk K3 58.77|JPN |[&ri8
52[400m kRO RFE REXFS =12 59.02|JPN |[&ri8
53[400m INFRERFD KT EER 60.52[JPN [&ri8
54[400m 2 —4E ROES ISLA 64.66|JPN |[&ri8
55[400m HE — NS =1 99.99|JPN |[#ri8
55[400m 2E g NS =1 99.99[JUPN [&ri8
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Rank. K% FiE e Bk EEE (S8
1/800m AR KXiE FLEX REF1 1:52.83|JPN |&riE
2/800m H*E X3 BEEHX K4 1:53.71|JPN |78
3/800m JKIE HHE SR K RZ4 1:53.99[JPN [$7:i8
4[800m Al &ABl |BREEAX K 1:54.07|JPN |78
5/800m JEE EEX X PN K4 1:54.50[JPN [3FiE3
6/800m BE &A LR K3 1:54.68|JPN |$7:i8
7/800m =g B3 HAAEX K3 1:55.07[JPN [3FiE3
8/800m HE 55 HiaEE X K3 1:55.20[{JPN [F3&E
9/800m ARH Eth [EEEEIAX K3 1:55.82|JPN |$7:iB
10{800m M [BAE Rize AC 1:55.83[UPN 378
11[800m FHIII EF |FRX K4 1:56.16|JPN |35
12[800m Tk BEX HEAC 1:56.21[JPN |$7iB
13[800m EJII EFN ASUM 1:56.49[UPN |37
14[800m Ea Z8 BAXES =1 1:56.57|JPN [3FiE
15[(800m INE B HAAEX K2 1:56.68[JPN |38
16/800m £EFE EE s =13 1:56.69[JPN |38
17(800m ESNITHE:) TRFREX K2 1:57.34[JPN [37iE3
18[800m AR & Rize AC 1:57.92[UPN |38
19/800m K BA gk K3 1:58.55|JPN [&
20[800m £ BX HAXES =1%2 1:58.57|JPN |$7:iB
21[800m WA K% gk K1 1:59.20|JPN |38
22[800m ENINE LS NS =12 1:59.35|JPN |8
23[800m FEMPN BAXES =12 1:59.41[JPN |78
24/800m BRIl Bt |HEEES =12 1:59.50[JPN |$7:i8
25[800m RIE XM BAXES =123 1:59.97|JPN |78
26/800m 8 KRER |#FEX K2 2:00.25[JPN [ 1|
27/800m EES JREEIZFF% 2:0059[JPN [FZE
28[800m i EE TOBRRER K4 2:00.76|JPN [#F:E
29[800m B REX gk K2 2:01.11|JPN [f25
30[800m MHE EX B =12 2:01.58|JPN [#F:E
31/800m =l @Bt Rt =S A2 2:01.94|JUPN_|[#7i8
32[800m e &L iR 2:02.05[UPN [#7:8
33|800m g KiE teamJ= 5 2:02.45(JPN |&:i8
34[800m 5 L HAXES =12 2:02.47|JPN |$7:8
35/800m FaIER  K#t B IR =12 2:02.65|JPN [#r:i8
36/800m EVIESS gk K4 2:02.73|JPN |$7:8
37/800m £ BE FaERS =13 2:02.87|JPN [#1:i8
38/800m B 1% E+EX K1 2:03.21|JPN |8
39[800m O HIE AR 2:03.86|JPN [#r:i8
40[800m B EA HES =12 2:04.04|JPN |[#7:i8
41[800m =i BhRE bl =1 2:05.02|JPN |[#ri8
42|800m Eik &8 77 ILSC 2:05.34|JPN |$7:8
43[800m L2 miE FREERUN 2:05.71|JPN [#1:8
44]800m XA NS =12 2:06.13|JPN [#F:E
45[800m FE & mae =2 2:06.19|JPN [&i8
46/800m XK B HES =2 2:06.43|JPN |$7:8
47[800m Tk BT HAXES =13 2:06.44|JPN |[#7:i8
48[800m MO AR |[#Es =1 2:10.20|JPN [&i8
49]800m i [FIE R EER KEM2 2:11.88|UPN [#FiE
50[800m BK BEX NS =1 2:12.22[JPN [#E

BHREGETBELFESIE. TN —8BRIZ, TN —UXTFLAETEHRLLIIEIUMN) —Z1TU, ZFEREEZL TSN,
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51[800m FE LE ik K4 2:12.96|JPN [Z5E
52[800m REWa HErES =1 2:1347|JPN [$7:8
53[800m a2 XE HBEES 2:14.99[UPN [#7:8
54/800m T £+ AEnsEs =’ 2:15.80|JPN [#FE
55/800m F+E Xk |[ELES =12 2:21.16|JPN [&i8
56[800m AH #T HBEES 99:99.99|JPN [#r:i8
56/800m Bk 21 ae =2 99:99.99[JPN [&i8
56/800m Din BIE gk KZEM1 [ 99:99.99[UPN [=5&E
56/800m WA =T A K2 99:99.99[UPN [Z3&
56/800m N BR HAXES =1%3 JPN 318
56/800m £k &8 NS =2 0:00.00[JPN [$7i8

F—TURNELHETF (EERFR B HEE-2E) [CEADVTVET,
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(#EE2 ]

FETIRFRRE LRBEFERS

623818 AT UMN) — RN ERBERDIFERTY)

Rank. K% FiE e Bk EEE (S8
1[1500m LR EE gk KEFEM2 3:49.49|JPN |[z:&E
2[1500m full B s =13 3:52.42|JPN |$7:8
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13[1500m kS FPN K1 3:59.36|JPN [Z:&E
14]1500m JIIE KEK = =13 3:59.74|JPN |$7:8
15[1500m 25 ks =123 4:00.16|JPN |38
16[/1500m £ZE 28 s =13 4:00.23|JPN [$7i8
17[1500m B8 LB |URLDd 4:00.29|JPN [#7:8
18]1500m INE B HAAEX 22 4:00.47|JPN |38
19]1500m HTE X— |FiaX 26 4:02.17|JPN |38
20[1500m g1l E BEEHX ES 4:0291|JPN (378
21[1500m £ MAE |FBEEELX 23 4:03.24|JPN [$7i8
22[1500m A =g FHs =1%2 4:03.62|JPN [$7i8
23[1500m [ EE N E PN KEM2 4:03.78|JPN |38
24[1500m INE FBEE BAXES =12 4:04.09|JPN |38
25[1500m HiZE M FREERUN 4:04.10|JPN |38
26[1500m ENESS ASJUM 4:04.39|JPN 378
27[1500m HE S8 FAEEX 23 4:05.12|JPN &
28[1500m 8 KRER |#FEX 2Y) 4:05.39|UPN [#Z5)I|
29[1500m Rk BX FiaEEREIAX 22 4:05.62|JPN |25
30[1500m Nix BFE ETPN KEMT 4.05.72|JPN [Z5&
31[1500m A % RIEXR 21 4:06.12|JPN |38
32[1500m A RT ASJM 4:06.21|JPN 378
33[1500m DTS HEyES =12 4:06.95|JPN |$7:8
34[1500m Sl #3 TRFREX K2 4:07.43|JPN |38
35[1500m Bk 21 mae =2 4:07.62|JPN [$7i8
36/1500m =% B3 FaEEEIX K3 4:08.62|JPN [$7i8
37[1500m T s =13 4:08.64|JPN |38
38[1500m INEF IR HAXES =13 4:08.78|JPN |38
39[1500m £k KH HAXES =13 4:10.17|JPN |38
40[1500m s Ei5 P =13 4:10.81|JPN [#F7i8
41[1500m Ml RE ERFREX K1 4:11.01|JPN (378
42[1500m EEIP N HAXES =1 4:11.13[JPN (378
43[1500m INFR F5H HEkyrES =13 4:11.41|JPN &8
44[1500m ES-IPN P =13 4:11.43|UPN &8
45[1500m MHE EX HES =2 4:11.64|JPN (378
45[1500m KR RB P =12 4:11.64|JPN (378
47[1500m R KR FHs =13 4:11.96|UPN [E18
48[1500m IAE Z3E HEAC. K1 4:12.23|UPN [#Z)I|
49[1500m ik A HAXES =1%3 4:1356|JPN |38
50[1500m WmE & FBEEX K2 4:13.82|JPN [FE
51[1500m HE It FHs =R 4:13.98|JPN [#7i8
52[1500m B 1% ETEX K1 4:14.23|JPN (378
53[1500m L i+ P =2 4:14.29|JPN |38
54[1500m ENTRCEES NS =2 4:14.60|JPN |38
55[1500m gz B8 FHs =1 4:15.41|JPN (378
56[1500m O XA s ISLA 4:15.67|JPN |38
57[1500m NEEE L FHs =12 4:16.12[JPN (378
58[1500m JEiE JB HAXES =12 4:17.02|JPN (378
59[1500m £F IhE +HERES =12 4:17.19|JPN |38
60[1500m INE ER FREEERS =12 4:17.38|JPN (378
61[1500m B BE BAXES =R 4:17.94|UPN &8
62[1500m =R It FREERUN 4:18.08|JPN |38
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85[1500m 255 B +HERES =1 4:30.16|JPN |38
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10[5000m =% B3 FiaEEEILX KF3 14:55.34|JPN [$7:i8
11[5000m HERE BA HAXES =12 14:58.37|JPN [$7:i8
12[5000m NI s =12 15:06.25[JPN [$7:i8
13[5000m FL BER FiaEEEIAX K3 15:07.76[JPN [Z5&
14[5000m i X— | ESmER 15:08.13|JPN_[#1:8
15[5000m KR RB P =2 15:08.13[JPN |38
16/5000m ES-IPN s =13 15:10.92[JPN 378
17[/5000m DTS HErES =12 15:13.46[JPN |38
18[5000m RiE BB BAXES =1%3 15:16.33|JPN_[#1:8
19[5000m maE 2 FREEERS =13 15:22.76[JPN [$7:8

20[5000m XE A#t BEEELEHSD 15:24.16[JPN |38
21[5000m +H =g FHs =12 15:28.29[JPN [$7:i8
22[5000m JEiE JB BAXES =12 15:32.81[JPN |38
23[5000m g FEF |HAXES =12 15:36.10|JPN [&ri8
24[5000m Ff X BAXES =12 15:37.77|JPN [$7:i8
25[5000m R B KT ER 15:40.00[JPN [3FiE3
26[5000m Ml RE TRFREX K1 15:40.69|JPN |[&ri8
27[5000m +H £EF s =13 15:43.25[JPN |38
28[5000m % E— Rt EER 15:50.0[JPN |37
29[5000m INE BT FaEEEILX 2 15:52.81[JPN |78
30[5000m £ AR |FBEEELX 23 15:53.76[JPN [$7:8
31[5000m WmE & FBEEX K2 15:55.13[JPN [Z5&
32[5000m =k Bib HAXES =13 15:57.23[JPN [37i83
33[5000m e B FeThEER 16:02.91[JPN [$7:8
34[5000m AtE GEE |RHEE =12 16:06.17|JPN [&ri8
35/5000m [EEEER AT ER 16:08.07[JPN [#7:8
36/5000m K G FRUE T BE 16:10.54|JPN |[&ri8
37[5000m HX E3F FaEEEIX K2 16:11.58|JPN [&ri8
38[5000m hi & *Elllﬁﬂiﬁ{wf 16:13.01[JPN [$7:i8
39[5000m =3 HEXR & HhkER 16:13.11|JPN [&ri8
40[5000m =R It FREERUN 16:16.75[JPN |37:8
41[5000m %E’uﬁ IE;X B hER 16:21.59|JPN |[&ri8
42[5000m il = H_EhEER 16:25.86[JPN |38
43]/5000m ER thoh RIRTER 16:33.64[JPN [37iE3
44[5000m Bk =2 P =12 16:35.07[JPN [37iE3
45[5000m B XN J_#_Fﬁllﬁ’rﬁ; 16:42.80[JPN [37iE3
46/5000m nig RE BEHhER 16:43.92[UPN [37iE3
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55[5000m PN RETHER 17:06.14[JPN [$7:8
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2|11omHci067cm 01am) [T 22 B select 13.68|JPN |[#ri8
3t1omHio6 om0 1am) | KA 4R SR EEX.N=PN K2 14.07|JPN |38
4|r1omHcio67em 9.14m) | 1 4 jH, EE EEEEAXK K2 14.49|JPN |{E5
5[11omHt06.7em 01am) | Fe L R FH [EES=PN REF3 14.65[JPN _|37:8
6|11omHcoscmotam | A TTJI| E FIEKR RF4 14.68[JPN |37:8
7 |11omci06.7em 0.14m) | AT ACER £ REEKR KE 14.69|JPN |35
7 |11omHc106.7em 0.14m) | BT ER A} select 14.69|JPN |#ri8
911omHt06.7cm 01am) | AT ACHE} £ REEKR K2 14.80|JPN |38

10]t1omHi06.7cm 0.1am) [ [ IESE select 14.82|JPN |$ri8
11 11omHcio67em 01am) [$RFf FBRHE BAX K3 14.90[JPN |#i8
12[11omHos7em01am) | 3 55 3 E3 PN 1 15.06|JPN |35
13[11omHci067em 0.1am) | E AR F] 3R HEERS =2 15.26|JPN |35
14 11omHct067cm 014m) |EF AR BHK [Tt N KEE 15.35|JPN |38
14 |1omioe7emoram [ I BEXR |FBK K6 15.35[JPN |#ia
16 |11omioe7emoram (SO E B K KF4 15.49[JPN |#is
17 |11omHci0670m 0.1am) | F R BASE ALSOKZ:8 15.61[JPN |Fris
18[r1omHci067cm 0.14m) JEIR KA AARAXES =1 15.77|JPN |38
19 11omHai06 7em 0.14m) | AT FH  {ES4H BAXES =1 16.08|JPN [#7i5

Rank. K& [FilEs FE EiRECER|EEE | S&
1 [s00mtce1.40m a5.0m [ FE R B EEIN=PN R4 48.51|JPN_|$1i5
2 |400mH91.40m 35.0m) [ ZEFF THIE ERIHXSH 555 52.06|JPN |$7:8
3|400mH(91.40m 35.0m | FE ] 234 [T N K3 52.88|JPN |¥1:i8
4 [a00mHco1.4cm 3s.0m | BH AR BHK TN RE 53.32[JPN [#riE
Bl | BH BZ | BBEREILA R4 53.52|JPN |38,
6 |400mH(91.4em 35.0m [ K3 Kb E BN K3 54.70[JPN [#ri5
7 |400mHco1.4em 35.0m) | SE . KA BANXES =1 55.27[JPN _|[¥Ti5
8 400mH91.40m 35.0m | FR [ {RIR il S =23 55.78|JPN_[#Ti5
9a0omtcot.4om ss.0m) | JIN FE  E HETEH =23 55.84|JPN [#Ti5

10eoomrsr 4em3som 38 A TEAER |FiREREALK AEF1 56.71{JPN_|#1:8
11 |400mH91.40m 35.0m) | FT e S B g K K1 56.85|JPN _|#Ti%
12 |400mHo1.40m 35.0m | SR ER  KEN #iE K REE2 57.06[JPN [Z:&
13fmmo | 55 AR |HEHER 57.47[JPN [318
14 |400mH91.40m 35.0m [ R AR 1 2} HEES =2 58.05[JPN [#ri5
15 400mH(91.40m 35.0m [ 75 BB ] B K K2 58.28(JPN [#ri5
16 |400mH(91.40m 35.0m [BR B} HiEs =82 58.83[JPN [#ri5
17 |40omHo1.40m 35.0m) [ ] 1| 8 B #iE kK REF1 59.71|JPN [Z#:&
18 40omHot.4em3som [ FEF il S =23 1:00.13[JPN _|F7:8
19 |400mH(91.40m 35.0m) [ FEER FEH EIR PN RE1 1:00.63[JPN |F7:8
20 [s00mtce1.40m as0m) | B AT BT A EBREIS =iR2 1:03.29(JPN _|F7:8
21 [a00mtco1.4em 3s5.0m) | 1, L] A HhES =1 1:16.48[JPN |31/
22 [somteraemssom) | EEHF FE  |EEAIS K RE1 99.99|JPN [#T1i5
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15[3000mscotaecm /MR ZEIK ERREES] =2 JPN [#7:8

Rank. K4 il FE Bk EEE (S8
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AET=ER HY B teamIR 3k 2.19[JPN_|#ri8
3| ES Bk AR BE  [teamiREE 2.05|JPN_|#ri8
4| FES B 2 ZFpk EEIEPS RF2 2.00[JPN |#ri&5
4| ES B EQINEZTN FREFEAX KF3 2.00[JPN |#ri8
AEED  [Atm T [Foebmdeik KF2 2001PN_Hg 5
TEE  [BlE MR [mens BB 1.99) PN 1578
8| E = Bk FH XE EECPN X4 1.95|UPN |[#78
8| E= Bk kI BE FaEERELX KF4 1.95[JPN _[#i5
8| E= Bk HE FBEL |FrBEEELX KF2 1.95[JPN _[#i5
8= Bk EH #ER | FEEEX 3 1.95[JPN [

12| E =Bk Nt Ex HEhER 1.90[JPN_[#1:8
D[Rk |ILA BIA |RAankn L90IJPN 147
O[ES% _|FE B |teamiEs L901JPN 145
To[EBBk A BE  |teamEi LO0LON 1575
oEm [T (5H Bk XF2 Lol PN 128
12 E =Bk Al BE |[BAXES =123 1.90|JPN |75
2|EEM% A% R |HAXES = 1k2 1.90[JPN_[##
19| ES Bk ¥ BT = LLIFE 1.85|JPN |= 1l
19[Sk |[E & [2RA Y 1.85[JPN_|37i
19| E = Bk AR FEX FimK M2 1.85[JPN |78
19| FE= Bk FE BD Fiax 1 1.85|JPN_|#ri&
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6[EMEH  |AF BNt |[HABBA AEM2 7.011JPN |15
o[EEEE LB ot |HAXES B3 701]JPN_|#7if
B EMERE  |f% A= FREREIA A¥3 6.97]JPN_|#1if
8l EERE  |RIR A [sEAAK K73 6.971JPN 1315
T0[EMERE AR B [STREmBIA Pl 6.931PN_|#f:f3
[EMERE DLl BAE  [TRESEIEA Pl 6.911JPN_I#f:5
12[EIBBE  [FE Bl |¥iRBEmEHK AF 0.88]JPN_|#1if5
12[FERE | K 2H [FyIIsc 6.88|JPN |35
14[E0EDk 2% fUA  [teamiuih 6.86]JPN _I#ri%
1a[EmERk |k F£A [FmA A5 6.86|JPN_|#1:5
12[EER  [AF BE [sews B3 6.86/JPN 1%
17| ZEnR Bk ik Stk select 6.85|JPN |37
T8[EiEB  [mE AW [Biee Bl 683 1PN _|#i%
1o[EIERk  [thIl ks [ 6.78]JPN_|#1if5
20[EMEBE ik AR [HEim B3 6.761JPN 1315
21[EBBE  [ifk BA [BrRLle BRI 6.72| PN 1375
22| EERE  [/\A @8 [TmK AFE3 6.65]JPN_|#1if5
22[E0ERK  [ta0 fREE  [E@maEs Bkl 6.65|JPN |31
24[EMEBE /IR Bk |[HAXES B2 6.55|JPN_|317%
25[EMEEk  |AA BA  |Hek A1 6.37|JPN |5
26[EMBEk  |[EH A— RS B3 6.26/JPN_|%7i%
27[E18DE 2@ DA [BrEk K76 6.241JPN 1375
28[EMERE (UK &5 |HrERE B2 6.23]JPN_|#1:5
20E0BTk [k BE [BRmS BB STTIIPN_ s
0[EMEDE  [EB AE  [FmA RF2 5.72LJPN 1538
SU[EMEDE  |m@ L  |Pies B2 494LPN_[%1i8
32|EERk  [{EM —B  |BULKUP JPN |35
o[ElEk |/ B |hEE BRI JPN_ |3k
Rank EZ Al ZE | Akan|EE [k
T=E% a5 oo |HBX KFEM2 15.17[CHN [#1i5
AE: A B AT b 14.701JPN_13ii%
JSEBE  [3H B [FREREA K2 it gl
4[| =Bk R EX [BAaX K3 14.24[JPN 378
B[St [As B8 |mmk Pl 14161PN_13%5
6= BBk B 7/ |FiREREIX K2 14.10[THA [#5A
=&k |[ARE AZ [EitA REMI 14.06]JPN_|#7if5
B[St [2% Sk |teamBR 13.91]JPN_I#ri5
o= Ek EH THE |ER Em 13.86|JPN 375
10| = BBk HR EBAR [BaaX K1 13.65/JPN |35
1= faBk =M BF  |[gek Pl 13.64|JPN |35
2[ZEBk  (IB 25  |HAXES B3 13.33]JPN 345
13[SERBE [ A [wak RE 13.15]JPN |77
14[SEkBk [t 28  [shEtilEby 13.001JPN_13%5
15[=f@pk  |mE wE  [AAXES B3 12.95[JPN_|#1:8
6|=E@Bk [k BA [Fimis Bl 12.89|JPN 1575
17|88 oM DA [BiRk K76 12.86/JPN 1575
18[=EBk | Bl |[grmBmietk AFE 12.29]JPN |3k
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Rank. K4 FiE e Btk (EE B
1|ranizG.260ke) [JED Z5.F B EEEA R KE3 17.68|JPN |[ZFE
2|m a6k [IUE RE FiaEEEAX RF4 15.07[JPN 378
3|ranis7.260ke) | RKEF fK ET4EXK K4 1441|JPN |[$riE
Alraniz.260ke) | K3 IRTE HiBEEEKRAC 14.24|JPN 378
5[raig7.260ke) | B A B BULKUP 12.16|JPN |38
6lraigaoeoe) | RA)I MUE | EHHAEKX K3 10.59|JPN [#ri8
7|z (7.260ke) [BE R [ FaES =13 0.00[JPN |38
Rank. K% FiE e Btk (EE B
1Pk [EE B4 HYrOBREBETIVELYYXRC 59.95|JPN |[#ri8
2|maEEeooke) [IUE £4E FiaEEEAX RF4 47.16|JPN [37:8
3|make.o00ke) [ By FIK =)= PN KE3 43.06[JPN |F:8
4|maemeoooke) |AE BikE HAEAX K1 41.30|JPN |38
5|mazz.000ke) | K5 FRIE FiBEREARAC 40.74|JPN 378
6|mam@ooke) | EFT ERE FiaEEEAX K2 40.63[UPN [#1:8
7|m#eE@.000ke) [ )1 &8 B EREL R K1 40.38|JPN |8
8|maEiE2.000ke) | IR TEZ A% T RE 27.94|JPN |[#7:i8
o|mmzeooke) | B H B B =R 18.04|JPN 378
10|M 8% .000ke) [ LU EEA BAFEXR K1 0.00{JPN |#7:8
11|F8&#%(2.000ke) | TS BF 30 FaES =1%3 0.00[JPN [3F:8
Rank. K4 FiE 2 Btk (EE B
[ T FBERENX K2 54.60[JPN [#1i8
2| no~—ma 2600 | KBE #R I FEEEEAX ¥3 50.31|JPN_|#1i&
3| ov—sa2e00 | 2 EAER HYrOBREBTIVELYYXRC 21.70/JPN_|%1:8
Rank. K% FiE e Btk (EE B
1]V #%800g) [Tl &Eth + H BT EER 66.95[JPN |[#78
2| HY#%(800g) |ER BEH PREXK K2 64.26|JPN [#7:8
3[OVF%(8000) | EFH TR E+EFEX R 62.21[JPN [#7:i8
4[ BV | R FRE FiaEEEAX RE3 59.57[JPN [#ri8
5[4V %(800g) | 518 HAR EREHRS =13 58.09[UPN [#r:8
6[OU%(800g) [1EE E—ER [FBEEEARX K1 57.64|JPN [#7:8
7|0y (800g) ;A IEIA FRERTS =1%3 57.56|JPN [#7:8
8™V (B00g) [fEA KR HIXK [BRAFEX K1 57.49|JPN |[#7i8
9[+°Y) $%(800g) jtﬁ fEit select 55.17[JPN [#7:8
10] Y 1%(800g) [E % team¥R 3R 54.83[JPN |[#7i8
11450 #:(800g) |2 £549h RERES =13 52.24|JPN |[#7i8
12[+5Y#(8009)| ) £ hHs =12 51.56|JPN |&ri8
13| Y8000 [ A ES =1%3 50.19|JPN |&ri8
14[ Y #%(800g) ,x;% RAth E - PN K2 44.25|UPN [#1i8
15451 #%(8009) |#23 ET HEAPRS =1%2 39.88[UPN [#71:8
16[0Y$%(800g) [Fith £ FrigmBER 37.13[JUPN [#i8
Rank. K% FiE e Btk (EE B
1|+ [dbE EX select 6378.00|JPN |#7:8
2|+ ERER | B £IRXK 24 5451.00[JPN [R#LL
3[HHEEH [A+E X FiaEEEILX E 3495.00|JPN [#r:i8
4|+1EFHE |FE BA HBERENX KE1 JPN |EE
Rank. K% g e Btk (EE B
1 [110murices.1om 9.14m) | & A ﬁﬂé F;;E]FE\EHS%‘,%‘ %_*5452 14.87|JPN ¥ﬁ;%
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Rank. K% FiE P Bk EEE (S8
1]300m HE HA RPN K2 33.88|UPN |#i8
2[300m R EE FiaEEREIX KEMI 33.92|JPN [#ri8
3[300m A R [FESEPN K2 JPN |¥7i8
3[300m B KE TN K3 JPN |¥7:8
3[300m ARk KE EBUR K4 JPN [55&
3/300m wE & =8 JPN |#7i8

Rank. K% FiE e Bk EEE (S8
1[300m Ea E& HAXES =81 JPN [#1:i8

Rank. K4 FiE e Bk EEE (S8
1 [s0omHe1.4om 35.0m) [ AR [ZEF HAXES =13 42.82|JPN _|#1i5
2 s0omtco1.40m 3s.0m) | R AT BT A EBREIS =iR2 47.21|JPN_|#7i8
3[soommoraemsson [ FFE  |AAXES =12 48.22|JPN_[37:5
4 [s00mH(o1.40m 35.0m | BRI AR 1 3} HiBES =12 99:99.99|JPN [#1/5

Rank. K% FiE e Bk EEE (S8
1|raniz6.o00ke) [BEE BB HBERS =3 12.26|JPN |38
2|mn 6.0k [ K 2= ks =13 9.85[UPN [#ri5
3|mtme.o00ke) [{EFE EELE HETS =1 99.99[UPN [#1:8
4| iz6.000ke) [ /N AR KHE HEES =R 99.99|JPN [#1i8

Rank. K4 iE
mAR(1.750ke) | B5 i K18 LR EHEiS
2|M8&1%(1.750ke) [ 25 53] HREREE

Bk EEE (S8
41.79|JPN |$7:8
33.11[JPN [#1:8

Y

T ToH R
H%
WIN

Rank. K% FiE e Bk EEE (S8
1[3000m HE IR FHs =1 9:12.43|JPN &8
2[3000m 24 BF s ISLA 9:14.77|JPN [#F:E
3[3000m BZF XZE HAXES =1 9:21.0[JPN [&:8
4[3000m *ﬁﬁl:l A hils ISLA 9:22 12|JPN [#F:8
5/3000m Bz B FHs =1 9:26.22|JPN |[#ri8
613000m HH = NFAS B8 9:28.25|JPN &8
7/3000m EE BE nEs =1 9:37.45|JPN |[#71:i8
8[3000m b BEE BANES ISLA 9:42 49|JPN |$7:8
9[3000m DR BAXES =1 9:44.37|JPN |[#1:i8
10[3000m XiZ BX FHs =1 9:47.50[JPN |[#ri8
11[3000m I PN T ] =1 9:4951|JPN [&i8
12[3000m By EH P ISLA 10:08.12|JPN |[#ri8
13[3000m Pk i s ISLA 10:08.25|JPN |[&ri8
14[3000m BmA LA BAXES =1 10:15.63[JPN |[&ri8
15[3000m B FWR nEE =1 JPN |78

=T RN BETF (hEREFIRZ 5% SAEE-2E) ITBADLTLET,
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Rank. K4 Bl FAE EEik(EE |BFK
1]100m NI OY (B EREAXR KEFM2 11.80{JPN s
2[100m AH &M FinEEELX A4 11.93[JPN s
3[100m iy FinEEELX RF4 12.17{JPN s
4/100m TEE D PN A1 12.21{JPN s
5(100m FE KK FinEEELX A2 12.23[JPN s
6]100m Eik e BAZFAEKRE N 12.25(JPN s
7[100m HE EX HEEILX RF4 12.58[JPN s
7[100m =8 I BAXES B2 12.58[JPN s
9[100m nE 5 BAXES =R 12.68[JPN s

10/100m Fik BEE FiaX A3 12.70{JPN s
11[100m kR EE FHs =12 12.75(JPN s
12[100m H B FiaX A2 12.84[JPN s
13[100m W KB BAXES E1%2 12.90{JPN s
13/100m A& EBE FRES =13 12.90[JPN s
15[100m 7 FifE P =R 13.00{JPN s
16[100m I BAXES =R 13.04|JPN s
17[100m MR #hH | REXFES =iR2 13.06{JPN s
18[100m Ek {H BAXES =1 13.11[JPN s
19[100m EH F1t FHs B2 13.13[JPN s
20{100m e A BAXES B2 13.23[JPN s
21/100m HZ 3B bl B2 13.36{JPN s
21[100m g BES FimX K6 13.36|JPN &
23[100m EE W RES E1%3 13.47[JPN s
24[100m HmR Ex P =R 13.58[JPN s
25/100m Hi& dH#n |!MNBAE =12 13.84|JPN s
26{100m =P 2 P =R 14.47(JPN s
27[100m && BEF RREMES =R 99:99.99|JPN bk

Rank. K4 Bl FAE Bk (EE  |B&
1]200m AH &M FinEEEILX RF4 24.62|JPN s
2[200m TEE D PN =) 24.82(JPN s
2(200m Eik e BAZRFAEKRE N 24.82(JUPN s
4[200m FE KK FinEEEILX A2 25.17|JPN s
5(200m Ti5 BE FinEEELX AEMI 25.42|JPN s
6/200m iy FinEEELX R4 25.78[JPN s
7[200m =8 BT BAXES =132 26.28(JPN s
8]200m Wi 505  |[FrREREIEX N 26.36(JPN s
9]200m ki BE FHs =2 26.48[JUPN i)

10[200m A #HE HRES =123 26.65|JPN s
11[200m wE 5 BAXES =R 26.66|JPN s
12{200m Fik BES FiaX RE3 26.78[JPN s
13[200m EH Fit FHs =2 26.85(JPN s
14{200m W KB BAXES =2 26.96(JPN s
15(200m I BAXES =R 27.03[UPN s
16[200m 7 FifE P =1 27.13|JPN s
17[200m WE £K FiaX RF4 27.18|JPN s
18[200m =ik B FinEEELX N 27.33[UPN s
19{200m YA HEH | ERRFS =2 27.47(JPN b3
20{200m HmR Ex P =R 27.62|JPN s
21]200m A RAR FatRs =2 29.94(UPN s
22(200m BHF #3F |Fiame =12 30.25[JPN s
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Rank. K4 Bl FAE EEik(EE |BFK
1[400m Ti5 BE FinEEELX AREMI 56.44|JPN s
2[400m WHE ([ HhoRPHFE 56.52|JPN B
3]400m Wi 505  |[FREREIEX N 58.43[JPN s
4]400m Hoh #HiE Eibe ] =152 59.37|JPN s
5[400m WE XK FiaX RF4 59.80{JPN s
6[400m INE BE FREERUN 1:00.12{JPN s
7]400m AR FiEE Fes =82 1:02.04|JPN s
8[400m AH B BAXES Bk 1:04.11|JPN 3]
9[400m FiL % G =2 1:04.19|JPN s

10{400m =ik 2 FinEEELX N 1:04.42(JPN s
11[400m B GO |FahRs B2 1:06.15|JPN s
12{400m BRIl F#% |HHIEs =12 99:99.9|JPN s

Rank. K4 Bl FAE Bk (EE  |BEK
1/800m WHE ([ HhoRPHFE 2:04.79|JPN E 3
2(800m WH & EIRFREX N 2:14.34[UPN Al
3[800m =E & bl =1 2:17.81[JPN i)
4]800m IR BE FREERUN 2:18.03[JPN b3
5[800m BRI & iee =2 2:27.34[JPN s
6[800m EHE B ftErbEs B2 2:31.45(JPN 3]
7(800m 1hik FinEEELX RE3 2:32.23|JPN s
8[800m Heh K iam =K1 2:33.95(JPN s
9/800m XiB %8 FimX N 2:33.97[JPN E

10[{800m BHF EE niee B2 2:36.11[JPN s
11/800m He IDE iee =2 2:38.83[JPN s
12(800m g I INFAS =12 2:42.07(JPN i)
13[800m Bl BF FHHEEX A2 2:42.17(JPN bk
14[800m HLE DE EHES Ei%2 2:42 41(JPN i)
15[800m Eik & ES =1%2 2:50.22(JPN s

Rank. K4 Bl FAE Bk (EE  |BFK
1]1500m =R 5 FinEEELX A3 4:33.81|JPN s
2]1500m FIER A2 EIRFBREKX REFT 4:43.62[JPN Al
3]1500m BE Fi#F |team TOMOZO 4:50.48|JPN s
4{1500m EH K mEs =1 5:01.11|JPN s
5[1500m HLE Bt =HES =R 5:05.35[JPN i)
6]1500m i PPl FiaX RE3 5:06.57|JPN s
7[1500m fE £ FimX A3 5:15.90{JPN s
8[1500m ]} EH ES =2 5:24.28(JPN s
9[1500m g I INFAES =2 5:26.99[JPN i)

10{1500m it Fm =HES =R 5:32.02|JPN i)
11[1500m BRIl BE | RERRES =R 5:44.99(JPN i)
12[1500m ZH TR FatRs =2 5:46.98[JPN 3]
13]/1500m A K& RERES =1 99:99.99[JPN 3]

Rank. K4 Bl FAE Bk (EE  |BEK
1/5000m BE Fi#F |team TOMOZO 17:36.75|JPN s
2[5000m XH EM i ER 99:99.99[JPN s
2[5000m X EBFE [HBTHEER 99:99.99[JPN s

Rank. K4 Bl FAE Btk (EE  |BEK
1]1100mH(@B3.4/MIl UMY |FrBEEEAEXR KEFM2 13.54[JPN b3
2[100mH(834EE TEx EEILX KF4 14.63[JPN i)
3[100mH(834K:E &% HAXES =2 14.98|JPN i)
4[100mH(83{ FLLU ZE 3R FiaX KF4 15.40[JPN i)
5/100mH(83.4#LLL £JF HAXES =R 15.79|JPN bk
6[100mH(83.4/ 4k Fifk Eib i) =ik2 16.11{JPN i)
7[100mH(@834+ A [HE ERXFS B 18.17|JPN i)
8[100mH(83 .4 1L #E FiaX RE3 99:99.99|JPN s
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Rank. K4 Bl FE B EE  |E&R
1[400mH(76.{ EA)I| IEfE |EEFEEK N 1:01.93|JPN s
2[400mH(76.{ %8 £7¢ RIRK A3 1:02.28|JPN s
3[400mH(76.{1kiE 1B BAZFARBKXRE K2 1:03.12|JPN s
41400mH(76.J K& #K FinEEELX K2 1:04.48|JPN s
5(400mH(76.J880 EFZ SHES =12 1:10.41|JPN s

Rank. K4 Bl FE B EE | B8R
1/3000mSC(18iAR Bz RthRS =123 99:99.99[JPN s

Rank. K4 Bl FE B EE | B8R
1]5000mW [LLE 4 LN RF4 22:55.76|JPN s
2[5000mW |sEEE EFE EIRFREX A3 24:31.34[JPN i)
3|5000mW | KIE FHFi i N 25:22.48|JPN i)

Rank. K4 Bl FE B EE | B8R
&S |28 £ |mmk K4 1.61|JPN__ |#7iF
1|EFS8 (B tEE |BEAXES =ik2 1.61[JPN s
J[ESE  |FN E i ER 1.56|JPN s
JEEBk [T KE [HEE B3 156|JPN __ |#7ik
lEEM |FR By |HARTHREAE R#3 1.55|JPN |5
6lESB |liE = S =1 1.50|JPN s
6lESH |EFH Zi EEXFS =2 1.50{JPN s
8|E=B |HEO FE™M BAXES =1 1.45[JPN s

Rank. K4 Bl FE B EE | B8R
1= [EH EA FinEEELX RE2 3.80|JPN s
20%EEH  |[NRE BE PN A1 3.50[JPN s

Rank. K4 FEE FE ERaE|EE  |E&KR
1|;EMEBE  [#E#h BAHE [&F 6.08|JPN s
2[EERE  |=BE #HEF | E1+EiR1T 5.83|JPN = 5
J[FEEH |EA) E |LUEX A2 5.70|JPN i)
J|EEH |HFH EH FinEEEILX KEM2 5.70|JPN s
SlFEMEEE B &b HAZFARBKRE RET 5.66|JPN it
6|XEMERE  |=HE YUH [FBREEELX K2 5.43|JPN 3]
7[EER |#£H FF BAXES =1 5.25|JPN s
glEEH |/EIR #E=E BRAEFEKR REF2 5.19|JPN s
o[FMERk |AA A |BAXES =1 5.11[JPN s

10[EMERk  |HE EF BAXES =R 4.96(JPN s
11|EMERE (AL EE EmtES =R 4.92[JPN s
12|FEMERE  |FER EiE IERE X R4 4.90|JPN s
13RS [ATH BE [HES B 4.81|JPN s
14|FEmERk [l FE EIRT PN RE3 4.61[JPN s
15(EERk |BE ES FimX K6 4.59[JPN il
16|EE [ TE RREMES =1 4.49|JPN s
17|%Ek  [IWA EB FRTRS =12 4.30[JPN s
18| EMERk  [LWEA Bk RhED =1 3.85|JPN s
19|EMER [ BE RERES =R 0.00{JPN s
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Rank. K4 Bl FE EEik(EE |BFK
1= [P EE BAXES =12 12.01{JPN s
2|=EBk | BRI Efk (WX K2 11.67|JPN s
=&k |AWL FiE FHHEEX A2 11.02[JPN s
A1ZEBE  |=RE YYH  [FTRESRBIEX REF2 10.90{JPN s
5|=E&Bk  |#MH FiF BAXES =K1 10.89[JPN s
6[=EEBk  |=H BET |FRESRENX A4 10.63[JPN =S
M=k |4F B} FimX N 10.43[JPN &
8[=E&Bk |EEF B EEXFS =2 10.39{JPN s
I=EBk |RIR tEX |HAXES Ei%2 10.18[JPN s

10| =E&Bk [Tl =& FiaX A4 10.12{JPN s
M[=ZEBE  |[FE D BAZRFAEKRE RE3 0.00|JPN s
Rank. K4 Bl F Eiik(EE  |BEK

=
1|fai %40 B FK TR ERR KR N 11.26{JPN s
2|FaX 4.0 FHEAER ik [T HERES =123 9.55|JPN s
3[R ik(4.0EAE 2k %S =K1 8.56[JPN s
4|Fani4.0(H# B PiHE =R 6.72|JPN i)
Rank. K4 Bl FE Btk (EE  |BEK
1| EERA0GEE O |[FBEEREAEXR K4 44.63[JPN o8
2|MEEIR(1.0(t2 A ik bl =2 23.62|JPN i)
KRR O ETIE 2 RPhED =1 0.00[JPN s
Rank. K4 Bl FE EEik(EE |BFK
N\ —ER B4 FinEEELX A1 50.47|JPN s
2h\ox—lAH Bl [FEERGELX A3 46.47|0PN |38
Rank. K4 Bl FE Bk (EE  |BEK
1[4 #%(600[ L8 =4~ JUMFII K N 47.43|JPN i)
2|4V %600l BR select 32.35(JPN e
3[OYR600| £ 1L FERE EPES =K1 25.92|JPN i)
410V $2(600) /M kSRR INFARES =423 23.06(JPN bk
5|4 #%(600|#A)I1| £ ErhEg =R 0.00{JPN i)
Rank. K4 Bl FE Bk (EE  |BFK
1| EREHE [EF B LN A4 4787.00|JPN s
2| tiEms | EBH RES E1%3 3511.00{JPN s
[t B EBAE |ELES =R 1858.00[JPN i)
Rank. K4 Bl FE Bk (EE  |BEK
1]/300m AH £k BAXES =1 JPN s
Rank. K4 Bl FE Bk (EE  |BFK
1]100mYH(7q/N#k  FiT§E Eib i) B2 15.54[JPN bk
2[100mYH74HRR E& Eib i) =R 99.99[JPN s
Rank. K4 Bl FE Bk (EE  |BEK
1/3000m INEE FTF ERXFS =3 10:08.59|JPN i)
2[3000m Al B = HES B2 10:39.58|JPN 3]
3[3000m g F3 BAXES E1%3 10:43.29|JPN 3]
4]3000m BBk FR ES =1 11:19.9|JPN s
5[3000m ZH TR FatRs =iR2 12:31.06|JPN i)
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EEEFBEELHRBEFIERS 6823 18EBEAT VN — R EBRBERDIERTT)
XIEFIEZTUMN)—E, BEERIESEIZHSLEWL=HZORNSIEELTULET,
= H{A % BR 5 S84 E &% A ;EA
—fikBF4x100mR | FHEHEDPLRS [ BRI JPN i =42 A
—fikBF4x100mR | FHFEHDPRS | FA WX JPN i =42 A
1 — iR BEF4x100mR | FHFEHPRS [H+E KZFE| JPN it =2 A
— 3B F4x100mR | FFRADLST 5IE & JPN iq =2 A
—fikBF4x100mR | FHHFEHDRS | MEE KK JPN i =42 A
— 2B F4x100mR | FHFEHDPLRS [ MEE BEA JPN i =2 A
— BB F4x100mR | #FBEIFS =ik BE JPN s = K2 A
— BB F4x100mR | #FBEIFS iy # JPN it =2 A
9 — BB F4x100mR | #FBEIFS INEH EE JPN g = k2 A
— BB F4x100mR | #FBEIFS TR W% JPN s =2 A
— B F4x100mR | FBI™mS L4 XK JPN it A
— % 5B F4 x 100mR HaiEs My BEX JPN e A
— 2B F4 % 100mR iae BE F=Z JPN Hia = K2 A
— i3 BB F4 X 100mR iee e & JPN iq =2 A
3 — % 5B F4 x 100mR iae MHE B JPN i =122 A
—fi% B F4 X 100mR iae =5 MA JPN i =122 A
— % 5B F4 x 100mR iae 2 & JPN g =ik2 A
—h% 5 F4 X 100mR FeE Es K JPN it =1 A
— 3B F4x100mR |  ALSOKHES Al K JPN ity A
4 — 3B F4x100mR |  ALSOKHS BE E# JPN s A
— 2B F4Xx100mR | ALSOKHTE Bl #\A JPN it A
— 3B F4x100mR |  ALSOKHES S8 BLF JPN it A
— i3 BB F4 X 100mR TEAM KOS =R 2 JPN 8 A
— 2B F4 % 100mR TEAM KOS | X&# EH| JPN 8 A
5 — i3 BB F4 X 100mR TEAM KOS Hi Eth JPN i A
— 2B F4 % 100mR TEAM KOS NS X JPN i A
— i3 BB F4 X 100mR TEAM KOS RHE e JPN i A
— i3 BB F4 X 100mR TEAM KOS M %t JPN i A
— i3 BB F4 X 100mR FREERUN Eif £F JPN i A
— 1% B8 F4 x 100mR FREERUN =R T JPN i A
6 — & B8 F4 X 100mR FREERUN ER R JPN s A
— % B8 F4 x 100mR FREERUN B/ —=F JPN i A
— i3 BB F4 X 100mR FREERUN %R BhE JPN ity A
— i3 BB F4 X 100mR FREERUN EZE nf JPN i A
— BB ¥4 x100mR select hiE B JPN i A
— BB ¥4 x100mR select N JPN e A
7 | —Hf&EF4x100mR select ik 28 JPN it A
— 2B F4 % 100mR select [ IEE JPN Eb A
— BB ¥4 x100mR select il 2] JPN i A
— % B F4 % 100mR INFRS Eik BRE JPN g = K2 A
3 — % B F4 % 100mR INFRS #O kK# JPN g =2 A
— 2B F4 % 100mR INFARES AFxF HwE JPN g = K2 A
— 2B F4 % 100mR INFRS INELWL BB JPN iq =2 A
— i3 BB F4 X 100mR FiaX i At JPN Hia K6 A
— i3 BB F4 X 100mR Fiax E&/I)I BEX| JPN i K6 A
9 — i3 BB F4 X 100mR FiaX XH#H F=A JPN g K5 A
— % B F4 % 100mR Fiak £ IhXK JPN s K6 A
— 2B F4 % 100mR Fiax AL 2B JPN PE KF4 A
— % B F4 X 100mR FimK £l E JPN P REF2 A
— 2B F4 % 100mR G HE+E —i| JPN iq =2 A
—h% 5 F4 X 100mR MBS B BHE JPN it =122 A
10 — % B F4 % 100mR IS He E= JPN g =1l A
— % B F4 % 100mR IS EE TR JPN g =1 A
— 2B F4 % 100mR HIES WK JPN it AR A
— 2B F4 % 100mR IS WA E JPN s AR A
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XIRF XM —IR, BREERESEICBOGWN=OHIDRMLIERVTVET,

— kB F4x100mR | FIREERENUKX| FE TiE JPN it KEMI A
— iR EF4x100mR | FIBEEEBLAKR| TH HE JPN it RF4 A
1 — iR BEF4x100mR | FBEEEHKR | tH 2 JPN it KF4 A
— iR B F4x100mR | FrBEEREUKR | %iFk Bx JPN it KF4 A
— % B F4x 100mR | FrREREUX [/MEIL BX|  JIPN it KEMI A
— kB F4x100mR | FIBEFEEWUXR | /I EX JPN i REF2 A
— i3 BB F4 X 100mR RES RFE EH JPN s =%3 A
— 2B F4 % 100mR RES 1k Ih JPN it =%3 A
12 — 2B F4 % 100mR HaRS AAT g JPN iq =2 A
— 2B F4 % 100mR FiaRe #]AR &l JPN g = K2 A
— % B F4 % 100mR HaRS A¥ EAER]  JPN iq =423 A
— i3 BB F4 X 100mR RES ESlR {EXBA| JUPN it =423 A
—fi% B8 F4 X 100mR EhES L #EK JPN g = K2 A
—fi% B F4 x 100mR RPhED Al FHA JPN it =1 A
13 —f#% 5B F4 x 100mR FEhES hf JPN iq =2 A
— 2B F4 % 100mR RPhED il BEa JPN g = K2 A
— i3 BB F4 X 100mR EhES FiIER —3E JPN g =1l A
— B F4x100mR | EEAXFS MR BRK JPN s = K2 A
—lBEF4x100mR | EMXFES F¥E BIK JPN s = K2 A
14 — % 5B F4 x 100mR ERXFS 25 B JPN i =i A
— % 5B F4 x 100mR EHXFS =H % JPN e =122 A
—fRBEFa4x100mR | EEXFS e B JPN g = K2 A
— B F4x100mR | EEAXFS kRO &RE JPN it = K2 A
— 2B F4 % 100mR ks XE E JPN it =423 A
15 — i3 BB F4 X 100mR hHEs RIE R JPN Hia =%3 A
— i3 BB F4 X 100mR hiHE Be EBE JPN Hia =%3 A
— 2B F4 % 100mR hHEs TS JPN Hia =%3 A
— i3 BB F4 X 100mR TP JIUAT S JPN it REF4 A
— i3 BB F4 X 100mR TP #E =X JPN Hia REF3 A
16 — 2B F4 % 100mR T PN Il BEth JPN g REF3 A
— i3 BB F4 X 100mR PN Bl K2 JPN g REF3 A
— i3 BB F4 X 100mR TP B EE JPN g K2 A
— i3 BB F4 X 100mR T PN WA &R JPN Hia K A
—fkBF4x100mR | FHFEHDPRS | /N XF JPN i =R B
—fRBF4x100mR | FHFEHEFRS [ HME FHE JPN i =R B
17 —fRBF4x100mR | FHFEHAFTRS | FiE 285 JPN i =R B
—fRBF4x100mR | FHFEHEFRS [ FEH KE JPN i =R B
— B F4x100mR | FHFEHEFRS [ A+ EKRKER| JIPN it =2 B
—MEEF4x100mR | FEHPRS [ HE B3} JPN i =R B
— i3 BB F4 X 100mR hiHE a5 BT JPN g = K2 B
— i3 BB F4 X 100mR hiHE FR X JPN g =1 B
18 — i3 BB F4 X 100mR hHEs WAtE SR1F JPN g =1 B
— i3 BB F4 X 100mR 1 =5 HIRK JPN Hia =1l B
— 2B F4 % 100mR hHs flll | JPN iq =2 B
— i3 BB F4 X 100mR hHEs SH Inth JPN Hia = K2 B
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— kB F4x400mR | FHHFEHEDPRS | EA WX JPN i =42 A

— iR B F4x400mR | FHFEHPRS [H+E KZFE| JPN it =2 A

1 — kB F4x400mR | FIFEHDPRS | £k B JPN i =42 A
— 2B F4x400mR | FHHEHEDPLRS [ MEE BEA JPN i =42 A
—fR B F4x400mR | FHFEEFTRS [ FEH KE JPN i =R A
—fR B F4x400mR | FHFEHEFRS [ A+ EKRKER| JIPN it =42 A

— % B8 F4 X 400mR HalEE ;AR B JPN e =122 A

— BB F4x400mR | #FiBiImE |/ BIE|  JUPN it =2 A

2 — % B8 F4 X 400mR Fiailme T ER K4 JPN e =122 A
— BB F4x400mR | FBEIFS iy # JPN s =2 A

— % B8 F4 X 400mR HaiEs (L JPN e =122 A

— B F4x400mR | FBEIMmS T W% JPN it =2 A

— 1% B8 F4 X 400mR iae BE F=Z JPN Hia = K2 A

— i BB F4 X 400mR iee e & JPN iq =2 A

3 —fi% B8 F4 X 400mR iee =HA &&| JPN iq =2 A
— % 5 F4 X 400mR FeE =5 A JPN it =122 A

— % B8 F4 X 400mR iee R #HE JPN g = k2 A

— % B8 F4 X 400mR iae Bl H3 JPN g = k2 A

— i B8 F4 X 400mR FREERUN B £F JPN 8 A

— i BB F4 X 400mR FREERUN =R T JPN i A

4 — % B8 F4 X 400mR FREERUN ER R JPN s A
— i3 BB F4 X 400mR FREERUN B/ —=F JPN i A

— i B8 F4 X 400mR FREERUN LR BhE JPN ity A

— i BB F4 X 400mR FREERUN T niE JPN ity A

— 1% B8 F4 X 400mR INFRS Xk JPN iq =2 A

— % B8 F4 X 400mR INFAE S R JPN g = K2 A

5 | —f& 5 F4 x 400mR INFAES AFxF HwE JPN g = k2 A
— % B8 F4 X 400mR INFRS INELWL BB JPN iq =2 A

— % B8 F4 X 400mR INFRS 1Rk 155 JPN g = K2 A

— % B8 F4 X 400mR FiaX Bk £E JPN ity KEF1 A

— i B8 F4 X 400mR FiaX BRI & JPN PE R A

6 — i BB F4 X 400mR FiaX B FH JPN Hia K A
— 1% B8 F4 X 400mR Fiak kR ER JPN Hia K A

— i3 BB F4 X 400mR FiaX §#E T2 JPN g K A

— % B8 F4 X 400mR FiaX JIIy 153 JPN Hia K A

— i B8 F4 X 400mR IS Bk X JPN g = k2 A

— % B8 F4 X 400mR S HE+E —i|  JPN s =2 A

7 — % 5 F4 X 400mR MBS B BHE JPN it =122 A
— 1% B8 F4 X 400mR HIES WK JPN iq AR A

— % B8 F4 X 400mR IS wOo K JPN g =1l A

— % B8 F4 X 400mR G tH OEA| JPN iq AR A

— % B F4x400mR | FIREFRENUKX| FE TiE JPN it KEMI A

— %5 F4 X 400mR | FrBEEEHKR | HK EE JPN s KEFEM1 A

3 — % B F4X400mR | FTREHEEWUKR | T BT JPN i KF4 A
—A% B ¥4 X 400mR | FBEBREL K HAE B JPN i REF2 A

— iR EF4x400mR | FBEEREWUK | Eie FiFEFHF JPN i REF2 A

— iR B F4x400mR | FrBEEEUKR | EiZ2 =X JPN i N A

— % B8 F4 X 400mR RPhED L #EK JPN g = K2 A

— % B8 F4 X 400mR EPES Al FHA JPN e =i A

9 | —f&5 F4 x400mR FEhES hf JPN iq =2 A
— 1% B8 F4 X 400mR RPhED il BEa JPN g = k2 A

— 1% 58 ¥4 X 400mR RPhED FISp —iE JPN it =1l A
—fi% B8 F4 X 400mR hHEs Ee EBE JPN g =%3 A
—fi% B8 F4 X 400mR hHEs TS JPN g =%3 A

10 — i B8 F4 X 400mR hHs a5 BT JPN g = k2 A
— % B8 F4 X 400mR hHs E&II B8] JPN it AR A

— % B8 F4 x 400mR hHs A& BEUH JPN g =ik A

— i3 BB F4 X 400mR hHEs WAtE SR1F JPN g =1l A
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€438z FIEFBERE EFRRBEFIERS 6H23R18BRBEATI VN —RMNEREERDERTY)
XIEFFIE T M) —IE, BRRREBEIHLANHIDENSFBRNTOET,
— 1% B8 F4 X 400mR TP JIUAT S JPN it REF4 A
— 1% B8 F4 X 400mR TP #E =X JPN Hia REF3 A
1 — 1% B8 F4 X 400mR TP Bl K2 JPN Hia REF3 A
— 1% B8 F4 X 400mR TP )l B JPN it KEF2 A
— % B8 F4 X 400mR TP EHR M JPN iq K2 A
— 1% B8 F4 X 400mR TP B EE JPN it K2 A
— kB F4x400mR | FFEHEDPLRS [ BRI JPN i =42 B
— R B F4x400mR | FHEEFRS [ #HK Z2N JPN i =42 B
12| —§BBF4x400mR | #FEAPRS 5IE & JPN iq =2 B
— 2B F4x400mR | FHHEEDRS | MEE KK JPN i =42 B
— kB F4x400mR | FFEHEDRS | KHE B JPN i =R B
— i B8 F4 X 400mR FiaX i finth JPN g X6 B
— % B8 F4 X 400mR Fiax E&/IIl BX| JPN s K6 B
13 — i B8 F4 X 400mR FiaX XH#H F=A JPN Hia KE5 B
— 1% B8 F4 X 400mR FiaX FHIII EF| JPN it KF4 B
—fi% B8 F4 X 400mR FimK E)I A JPN PE K2 B
— i B8 F4 X 400mR FiaX El #5 JPN PE N B
—fi% B8 ¥4 X 400mR BAXHES RIE B JPN s =13 B
—fi% BB ¥4 X 400mR BAXHES tiE Dham JPN e =122 B
14 — 1% B8 F4 X 400mR BAXES £ BK JPN it = K2 B
— % B8 F4 X 400mR BAXHES A KF0 JPN g = k2 B
— % B8 F4 X 400mR BAXHES Be EW JPN g =ik B
— % B8 F4 X 400mR BAXHES 22 XZE JPN it =1 B
—fi§ 58 F4 X 100mR hHEs 15 W JPN i =ik C
—fi% B F4 x 100mR P EZH A JPN Hia =1l C
15 — 2B F4 % 100mR P E&II B8] JPN iq AR C
—fi% B F4 x 100mR P AF BEH JPN Hia =1l C
—fi% B F4 x 100mR P SR R JPN Hia =1l C
—fi% B F4 x 100mR P = JPN Hia =1l C
— kB F4x400mR | FEHEDPLRS [ K K4 JPN i =2 C
— kB F4x400mR | FFEHDPRS | /NE XF JPN i =R C
16| — 2B F4x400mR | FHFEHEFRS [ HME FHE JPN i =R C
—fR B F4x400mR | FFEHATRS | FiE 28 JPN i =R C
—iE B F4x400mR | FEHGRE [ HE B3} JPN i =R C
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= H{A % BR 5 S84 E Lok A ;EA

— iR ZF4X100mR |[HAZFARBRE FE JPN g KE3 A

i — 3L F4x100mR |[BALFARBEKRE £k HE JPN b RE2 A
— iR ZF4X100mR |[HAZFARBARE A K5 JPN g REFT A
—RZF4x100mR |[HALZFARBKREF Tk HE JPN it KEF1 A
—fkZF4x100mR | FFEHDPRS | FH #F JPN i =R A

— i ZF4x100mR | FHFEHPRS | Et+E T JPN i =R A

2 | —REZF4x100mR | FEHTDLRS | HII 5 JPN i =R A
—fRZF4x100mR | FHFEEFRS | #HE EfE JPN i =R A
—fZF4x100mR | FFEHEILS | EF NHE JPN i =R A

— %% F4 X 100mR iae Ee B JPN g = K2 A

— &% F4 X 100mR iee AR Fif# JPN it = k2 A

3 — &% F4 X 100mR iee INRR - FiTAE JPN it =2 A
— %% F4 X 100mR Fas e Bk JPN it =12 A

— &% F4 X 100mR iae BH P JPN #iq =2 A

— i3 & F4 X 100mR iee HE X8 JPN Hia =1l A

— i3 & F4 % 100mR nEs E =5/l JPN g =2 A

— 8 & F4 % 100mR nEs Bk 1E JPN iq =2 A

4 — 8 & F4 % 100mR oES =zh B JPN g =2 A
— 8 & F4 % 100mR oES ® U JPN s AR A

— i3 & F4 % 100mR ES %88 kK=E JPN Hia =1l A

— %% F4 X 100mR s A S5 JPN g =i A

— &% F4 X 100mR Fiax WE XK JPN g KF4 A

5 — &% F4 X 100mR FiaX g BES JPN il REF6 A
—f% % F4 X 100mR FiaX HH U JPN Hia KEFA A

— &% F4 X 100mR FiaX BA BE JPN Hia RE4 A

— i3 & F4 % 100mR BAXHES Rt X JPN g =2 A

— i3 & F4 % 100mR BAXHES INBE B TE JPN g =2 A

6 — i3 & F4 X 100mR BAXEDS EH #E JPN it =2 A
— 8 & F4 % 100mR BAXHES WE 5 JPN g =1l A

— &% F4 X 100mR BAXHES I JPN g =1l A

— &% F4 X 100mR BAXHES =8 BT JPN g = K2 A

— R & F4x 100mR | FBEEBALX [ /NI OHY JPN iq KEM2 A
— iR ZF4X100mR | FIBREFEWUKX | TiH HE JPN ot KEMI A

7| —fRZF4x100mR | FIBEEMBAEK | Ak #HE JPN i RF4 A
— iR ZF4x100mR | FIREFENAKX | AH &EF JPN s KEF4 A
— iR ZF4X100mR | FIREFEUKXR | BFE XK JPN s K2 A

— %% F4 X 100mR FRES A& BHE JPN it =123 A

— 1% % F4 x 100mR RES AN BF JPN g =%3 A

8 — &% F4 X 100mR FiaRe BEE i JPN g =13 A
— %% F4 X 100mR FiaRe FiE #H JPN g =%3 A

— &% F4 X 100mR RES Fk tiE JPN g =13 A

— &% F4 X 100mR FiaRs BE M JPN g =2 A

— &% F4 X 100mR hHEs kR B JPN Hia = K2 A

— &% F4 X 100mR P EH Fit JPN Hia = X2 A

9 — &% F4 X 100mR hHs I FifE JPN g =1l A
— &% F4 X 100mR P F M JPN iq AR A

— i3 & F4 X 100mR hiHE =E 2 JPN s =ikl A

— i3 & F4 X 100mR hHEs HR Ex JPN g =1 A

— & ZF4 X 100mR BAXHES B ZA JPN s = K2 B

— &% F4 X 100mR BAXHES Bk JPN it AR B

10 — i3 & F4 % 100mR BAXHES AH —Z5 JPN iq AR B
— &% F4 X 100mR BAXHES FE EF JPN g =1l B

— & ZF4 X 100mR BAXHES ®H FiF JPN g =1l B

— &% F4 X 100mR BAXHES Sl BF JPN g =1l B
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= H{A % BR 5 S84 E Lok A ;EA
—fRZF4x400mR | FIFEEHDRS | FH EF JPN i =R A
—fRZF4X400mR | FFEHPRS | Et+E T JPN i =R A
— iR ZF4x400mR | FFEHDRS | HI H#H JPN i =R A
—fRZF4x400mR | FHFEEFRS | #HE EfE JPN i =R A
—iRZF4X400mR | FFEHEILS | EF NHE JPN i =R A
— i3 & F4 X 400mR iee Ee B JPN g =2 A
— A% & F4 X 400mR iae BRI & JPN i =2 A
— &% F4 X 400mR iee AR FifE JPN Hia = X2 A
— &% F4 X 400mR iae BEH X JPN Hia =2 A
— &% F4 X 400mR iae Hod iLE JPN g =2 A
— &% F4 X 400mR iee He K JPN it =1l A
— &% F4 X 400mR nEs E =5/l JPN it =2 A
— &% F4 X 400mR nEs A FDif JPN Hia =2 A
— &% F4 X 400mR nEs Bk 1E JPN iq =2 A
— &% F4 X 400mR oES =zh B JPN Hia =2 A
— &% F4 X 400mR oES BAR E£H JPN g = K2 A
— % % F4 X 400mR oES R Ik JPN i =i A
— i3 & F4 X 400mR BAXHES INBE B TE JPN g =2 A
— &% F4 X 400mR BAXHES AH HBE JPN g = k2 A
— i3 & F4 X 400mR BAXHES WE 5 JPN g =1 A
— R & F4 X 400mR BAXHES AH B JPN g =1l A
— B 20 F4 X 400mR BAXEDS hnE  ZRbk JPN it =1l A
— & ZF4 X 400mR BAXHES =8 B JPN g = K2 A
—HR & F4 X 400mR | FREEEAEX [ /DI oMY JPN i KEFM2 A
— iR ZF4X400mR | FTREFEEWUKX | Ti5 HE JPN s KEMI A
— iR ZF4X400mR | FTREFEWKR | AH &EF JPN s KEF4 A
— k% F4 x400mR | FBEEEAKR [ KB #Xk JPN it REF2 A
— iR ZF4X400mR | FIREFEUKXR | FE XK JPN ot K2 A
— iR F4 X 400mR | FrBEEEMKR | LT 505 JPN s = A
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